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QUESTION 1

Refer to the exhibit.
Switch-1

& network administrator enters these commands and misconfigures the link aggregations:

Switch-l{config)# trank 1-2 trkl lacp
Switch-1{config)# trunk 3-4 trk2 lacp
Switch-2{coniig)# Trunk 1-2 trkl lacp
Switch-3{config)# trunk 1-2 trkl lacp

Which behavior does Switch-1 exhibit on its link aggregations?

A. It uses LACP to dynamically detect that ports 1 and 3 belong in trk 1. and ports 2 and 4 belong in trk2.

B. It blocks one or both ports in each link aggregation due to errors detected by LACP.

C. It sends an SNMP probe to Switch-2 and Swrtch-3 to determine whether it needs to shut down any of these ports.
D. It load shares traffic on both ports in each LACP link aggregation, which leads to loops and network disruption.

Correct Answer: B

QUESTION 2
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RHefer to the exhibit.

Switch-2

I
Link 1 :Linlt 2
Iﬂew link to be added

Switch-1

The switches in the exhibit use RSTP The network administrator needs to add Link 2. Why should the administrator
configure Links 1 and 2 as a link aggregation?

A. to combine traffic statistics for the interfaces

B. to prevent a loop from occurring

C. to share traffic more evenly over both links

D. to automatically apply the settings already configured for Link 1 to Link 2

Correct Answer: C

QUESTION 3

Refer to the exhibit.

VSF-—Switch# Show vsf lldp

MAD device Ip ~mad statyg

Split : 1/A1,1/B1,2/a1, 2/B1,
: No

;IAD Probe Originator -
umber of Probe Tequests sent fi

Number of :
pI‘Dbe responSeS r 3
MAD Active Frangnt eceived : 0

What does the command output in the exhibit indicate about the status of an Aruba Virtual Switching Framework (VSF)

fabric?
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A. The two members of the VSF fabric cannot contact each other, and the other member is the active member.
B. The two members of the VSF fabric cannot contact each other, and this member is the active member.

C. The two members of the VSF fabric are currently connected.

D. The second member of the VSF fabric has not yet joined the fabric, so LLDP-MAD is not operational.

Correct Answer: D

QUESTION 4

Refer to the exhibit

New WLAN Hale
LE WLAN Settings _ ERVIAN IS SCeuilty

Client IP & VLAN Assignment

Cloant 1P asssgremant: L) Wirtual Controller managed

) Netwark azngned
Clrent VLAN aszignment: (8 Default

M
_J Static

) Dynamic

The exhibit shows settings for a WLAN on an Aruba Instant cluster. To which VLAN is wireless user traffic assigned?
A. to the VLAN defined for wireless users in Aruba AirWave

B. to the default VLAN on switches connected to the Instant APs

C. to the default VLAN defined in the System settings in the Instant Ul

D. to the untagged VLAN on switch ports connected to the Instant APs

Correct Answer: D

QUESTION 5

A company needs a modular switch that can be combined with another modular switch into a single logical fabric. Which
ArubaOS switch series meets these criteria?

A. Aruba 2930F Series
B. Aruba 3800 Series
C. Aruba 3810 Series
D. Aruba 5400R Series

Correct Answer: A
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